
Monday office hours rescheduled to 1:10 to 2:10 from now on. 

Please hand in reworked test 1.


Test 2 postponed to Wednesday, April 2  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6.3 Enzyme Kinetics


6.4 Enzyme Inhibition


6.5 An Enzymatic Mechanism

6.5 An Enzymatic Mechanism


Chap 7: Carbohydrates
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rate = k3[ES]

[ES] = k1/(k3 + k2) [E][S]

Km = (k3 + k2)/k1 

[E] = [E]T - [ES]

[ES] = [E]T [S]/(Km + [S]) 

Which finally gets us to the rate law…

              k3[E]T [S]
               (Km + [S]) 

Enzyme Kinetics: Steady State Assumption 6.3.2
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rate =






Enzyme Kinetics: Compare the Rate law to the Plot 6.3.3

Km >> [S] Km similar to [S] Km << [S]

              k3[E]T [S]
               (Km + [S]) 

              k3[E]T [S]
               (Km + [S]) 

              k3[E]T [S]
               (Km + [S]) 

29

rate = rate = rate =





               k3[E]T [S]
               (Km + [S])

 

Enzyme Kinetics: Lineweaver-Burke Plot 6.3.2
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rate =





                 k3[E]T [S]   1   KM      1     1

               (Km + [S]) rate k3[E]T [S] k3[E]T

 

 

Enzyme Kinetics: Lineweaver-Burke Plot 6.3.2
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rate = = +

(-1/Km, 0)

(0, Vmax)






 

Competitive Inhibition 6.4.2
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k1

k2

k3
I + E + S ES E + P

EI

cmasi

cmasi



	 


 

Uncompetitive Inhibition 6.4.3
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E + S ES + I E + P

EIS

k3k1

k2

cmasi

cmasi



.          


 

Noncompetitive or Mixed 6.4.4
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E + S + I ES + I E + P

EISEI + S

k1 k3

k2

cmasi

cmasi


